Word Problems

1) Scooby-Doo has 71 bones and wants to share them equally among his 2 friends. How many
bones will each friend get, and how many will Scooby-Doo have |eft?

2) Spider-Man has 97 web cartridges and he wants to divide them equally among his 7 closest
superhero friends. How many web cartridges will each friend get, and how many will Spider-
Man have left over?

3) Buzz Lightyear has 40 space cookies, and he wants to divide them equally among his 8 Space
Ranger friends. How many space cookies will each friend get?

4) Woody and Buzz Lightyear have 91 candy canes. They want to share them equally with their
4 friends. How many candy canes will each person get, and how many will be left for Woody
and Buzz?

5) Tigger has 60 bouncing balls and Winnie the Pooh has 62 bouncing balls. How many
bouncing balls do they have together?

6) Buzz Lightyear had 54 buttons but lost 10. How many buttons does he have | eft?

7) The Lion King has 867 apples and wants to share them equally among his 9 friends. How
many apples will each friend get, and how many will the Lion King have left?



8) Pinocchio has 49 noses, and each nose is 3 inches long. How many inches long are all of
Pinocchio's nosesin total ?

9) The Flintstones have 731 dinosaur bones and they want to divide them equally among their
family of 7. How many dinosaur bones will each family member get, and how many will be left
over for Dino?

10) Minnie Mouse bought 936 balloons for Pluto's birthday party. She wants to divide them
egually among 8 tables. How many balloons will each table get, and how many balloons will be
left over for Minnie to play with?

11) Anna has 10 snowballs, but she wants to have 57 to make a snowman. How many more
snowballs does she need to make a snowman?

12) Lightning McQueen has 31 sets of tires, and each set has 31 tires. How many tires does
Lightning McQueen have in total ?

13) Pocahontas has 22 arrows and John Smith has 78 arrows. How many arrows do they havein
total ?

14) Elsa wants to make 66 snowflakes for her sister, but she has only made 3 so far. How many
more snowflakes does she need to make?

Answers: 35r1, 13r6, 5, 22r3, 122, 44, 96r3, 147, 104r3, 117r0, 47, 961, 100, 63
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